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Subject : Accountancy

wa 3 W) Pt %
Time 3 Hours] (Maxomum Marks 80
b

() T3 &4 wo @ futwa B - 3 4 Ty w
(i) @WoE (31 & T wes @@ B A @
(i) WoE (W) PA (W) A A B¢ W 0P A & ] R
(v) Wo0 @UE & & 0o & IW 0 F & R B e aie
(v traw we-dm ® e b gt qen 3 e #
Iinstructions :
() Question paper 1s divided in thée Sections (A} (B and L
(i) All questions of Section (A) al@ LUpuisory
(i) Solve any one section from Sectun (B) ang (C)
v) Wiite all answers of eacn oS same place

v Maximum word-hmit is oty 1 e Meoutelical quesions
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{ewoE- W)

Section-A
(wdar® wul ot ¥ fe Awpeen

(Partnership Firms ang Company Accounting)

aor (3) & ;b gem W cheiiid » e wfend 8 gwe smes 0 2 s - Wi -
m:rﬂlimmm13Tmf#u‘f::!lammmm'mwnm:
o # wn wwfe g #
instructions :
All quesuons of Section A; are compuisory for all students. Quéstion Nios Y o8
are very short answes tlype questions camng 1 mark each Answer Ne questions
in 1 word or 1 sentence and aiso include objectve type Quesitions
e v
Objective type questions
WE-1 AR W e e 2 ’
(3) WPER & WY W
(q) B B EWGE O
(H) wgon v ¥ Wy g

®) g0 @ W
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Revaluation account is openad when
(a) On admission of new partner
(b) On dissolution of a firm
(c) On sale of a partnership firm
(d) None of these

-2 o ¥ @ fa & 1
(%) 3o
(¥) WomFER])
(|} O™
(@) TR | B AF
Owners of a company are
(@) Shareholders
(b) Debenture-holders
(c) Directors

(d) None of these

we-3.  avafa @ e 1
l3‘” W 3{15""1 =LA H-J:Uld
@ T yua - oA HE
___-__'____......--—--"‘" e =,
PlT.o.
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(W) @M A - AW Iy

Illmm-mm

Gaining ratio is :
(@) Old ratio - New ratio
(b) New ratio - OId ratio
(¢) Sacrificing ratio - New ratio
(d) Sacrificing ratio - Old ratio
e mmﬁmﬁmwmmmg: 1

Which type of goodwill fetches the lowest value ?

q¥A-5, O WEER B @ W @ e B fear w2 1
To whom the due amount is paid in case of death of a partner ?
WE6. Tme el @ osuee e omr ow o # 2 t

Capnal losses are written off by which item 7

fodwm -
T BAD T @ 10 A Y Ity gy 4, et e 0 3 3 FroiRm & 3R B it
oA S0 wE @

Instructions

. o _ -ar
Question Nos 7 10 10 gre $hon gy,  type quesbons ach question camas 3
B

marks  Maximurm word-lipn of ang, &0 woids
ur 15
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we-10.

(8)
ardn wnfy ) sra 2 3

What do you mean by local goodwill 7

x ffite A v 79 60,000 T. B Y 35 ¥ mu A B A 10 . wm
ye A Brn ma e # cEH ¥ o et i 1%+1%=3
X limited purchased a machine for Rs. 60,000 from Y traders. The payment was

made by issue of equity shares of Rs. 10 each Pass journal entries in the

books of the company.

0F T 10 T A 20,000, 5% AN I ¥ TR B et o v o
B oM pwd #ogEm 3 sEw 4 seen a e 1%+1%=3
A company issued 20 000, 5% drbentures at Rs. 10 each. All monéy duly

received al lump-sum Pass necessary journal entnes in the books of the

company.

Z%ﬁi‘sf{mwﬂswﬂmwm-imnﬁsmmﬁ ! gy 3 S

ny ) Wded o 3 . ufd 34w W e wfaw Wi o o @ e [

fﬁﬁ‘-‘!mmw%mrzwﬁﬂqﬁﬁﬂm&smﬂmwmw

gsn ufafedl #fav 3

Z limited forfeited 150 ghares of Rs 10 fully paid of Rajesh due to faiure of Rs

3 per share on altotmert avd RS 4 par share on final call Pass journal entries

in the books of Z 110 cptated 10 Wrtetyre of shares

— P.T.0.
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TS 11 09 12 o 300 qun gy guaw 0w 0 4 S0 B §) mder gw o
e R #)

Instructions :

Question Nos. 11 and 12 are short answer type questions. Each question carries 4

Marks. Each question has an internal choice.

-1 R A ofy s 2assqmaﬂwmang|mahqsﬁﬁuﬁmés%ew

ﬁmﬁmmilmmmmmmﬁmﬁﬁel 2+ 244

Vinay and Ruchi are partners in the ratio of 3 2 respectively Aruna s admitted

into partnership for 1/6" shareh the profits. Caicuiate the sacrficing ratic ang

new profit sharing ratio

Jua OR
u#umgzmaq,oma o o & waw @ ARee S5 5 00 000
o # nmamqf&ﬁmﬁﬂmavz%tl ARt @ 12 000
- uﬁ?mnwhmﬁlmﬁﬁmﬁﬂmﬂﬁmmmw B
ThnavomqenolpromolatimmRs B4, U0 per annum. Lapial invesied s Rs

5.00,000. The rate of Olum in g op pusiness § 2% Patnens are paio Rs

12,000 for remuneratorn Calgyigre (e vaue Of 9000wl by cagitausation of
v

Supel proM metnod

e —— e -
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TE-12. @ & W q q6 & HI 7 3R we Pl 141414124

Distinguish between sacrificing ratio and gaining ratio.

Fgal OR

R @R vl aEt e wm § R |

Distinguish between Profit & Loss Account and Profit & Loss Appropriation

Accounts.
fadwr -

ye FHHiB 13 ¥

R ks fem €

15%%%%?#%%“6%%&9@6%

Instructions :

Question Nos. 13 to 15 are long answer type questions. Each question carries €

marks. Each question has an internal choice.

qE-13. @R, Uda 3R T8 ger: 50,000 T, 30,000 . AR 20,000 ©. B TN ¥ AWER

§1WW$W@WS%HMWWMIMMW
aﬂgmqﬁmlm3=2:1$ﬁﬂmﬁmﬂﬁlﬁﬁaﬁs,Mn
Pt de o il @€ 2020 F TR A B 6,000 T, 5,000 T. TN 6,000
ﬁ.ﬁaﬁwlmﬁz,owﬁ,ﬁmﬁswamm,hw
3 v e 81 ) ) A, R T 5 v a5 @ 2020 1 s
o 60,000 T, ol WHER B T WA o gy e e aEdl 343=6

Karan, Pankaj and Naveen are partners in a firm sharing profit and losses in

proportion to 3 : 2 . 1 with capital of Rs. 50 000, Rs. 30,000 and Rs. 20,000

_____.______,_.--—""—'__""—
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eepactively  The parinership pqreement PIOVKIeS for creditimg iviarest on
capital @ 8% per annum. Naveer is entitied to a salary of Rs. 5,000 per annum
The partners withdrew Rs. 6,000 Rs. 5.000 and Rs. 6,000 respeciively during
the year. Pankaj withdrew goods worth Rs. 2,000 which was not entered in e
books. The trading profit before taking into account interest salary and goods

amounted to Rs. 60,000 for the year 2020. Prepare Profit and Loss

Appropriation Account and Partners Current Accounts

Jua OR

X Y 3R Z e 3 1$mﬁwnrﬁﬂzﬁ?t31-12~mzﬁm%

= or 2@
Rican
31-12-2020
r N e — Y - -
| =i af¥ | gutayt 41
|
l (5 j 4» (T
. —t U I —— ﬁL——--—-- -
i o b L 1,600 | aE é 800
l | |
. Wfaa @ 6,000 & A 0% 1,000
|
i |
Rl L 144 9 000
I Y 16,000 . i
wl
! Z 10,000 U R i AN
\

1
-
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2 e B o s e 0 R B e el
) wftm o awma 5% 0 A
() wEU om 5% mm a1 F 0% Jmpn. fm G
() wEa 3 g 15000 T A A
omv-pfy gamtaR @ va Rt B G am el
2 1 Thew balance sheet on

X. Y and Z are partners in the ratio of J

31-12-2020 18 as under

Balance Sheet
11-12.2020
Liabilities | Amount J Tassets | Amount
gl (Rs ) i| R
Mc:roauors o 1.600 Cash 600
Reserve Fund 6.000 Cash at Bank 1.000 '
Capital Debtors 9.000
X 10,000 Stock 7 000
Y 10,000 Machinery 8.000
Z  10.000 30 000 Buikding 14 000
D A el S Bhiotil
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(10)
On that day 2 retires from business It is agreed to adjust e values of e
assets as foliows
(1) To provide a reserve of 5% on Sundry Debtors for Doubttul Detits

(") To depreciate stock 5% ang plant by 10%

(W)  Buidding 1s revalued by an independent valuer at Rs 15 100

Prepare Profit and Loss Adjustment Account and Partners Capitat Accounts

TR AW AW A 1 FIEN 2020 m amd ot a Boem e Sreofer et

¥ fv = we AT ® aan 1+1s101et01ag

(F) fages & amm 1500 ® adl

@ A g g ed e R 0 v awm mv

(F 6000 ¥ ¥ 4 & WIT I WA & G2 A » A+ 2 18 angues
gee 4 3 &a

: TG WA R GEN A R 3 9000 T B AR B B e aw

@ & W H yaE B oo e

U TG WA B A 12000 & gus AW AT B sEA 3 ¥ 8
FENARA By 2

Palak and Shieya dissolved thewu tiym on 1 Jan . 2020 What joumal entmes wiil

be made for the following Hansacyons on As SSORbOL

{a) Dissolution expenses amounted © RS 1 50

it AN unfecuided 8881 1y s R

(C}) Slock worth Ks 6 000 Alrgady Lansiered 1o REABSAION Acvount was

laken ovel Dy parng Paiay
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(11)
(d)- Creditors already transferred to Realisation Account were paid Rs. 9,000.

() Rs. 12,000 is paid to bank loan.

(f)  Profit on realisation Rs. 12,000 is to be transferred to Palak and Shreya
in the ratio of 3 : 1.
Jyal OR
HATEF3: 2 1 & IUE A oV dicd g¢ IR Taerd & 81 31 fe,
2020 B ¥ I TAEE B TAG A B Fewd ge, @ faesr FEHER a1

fean
31-12-2020
afea | afr Rt afer
(3.) 4 (®.)
TR 8000 | ¢ wtm 80.000
gt | wef 1,00,000
(31 1,00,000 e 28.000
(@ 10,000 AwE 32,000
(®@) 72,000 | 1,82,000
270,000 2 70.000

3 AR @ 80,000 B B AW B TN &M TR A 63,000 . TG & AR Wi
46,000 ©. § a7 fean MmN AR B T 84,000 B. A fban e @@ 3,000
o, fear mam

TN @A aEe
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A. B and C were partners in the ratic 3 : 2 : 1 respectively. They decided to

dissolve the firm from 315t Dec., 2020. The balance sheet on that data was as

under
Balance Sheet
31-12-2020
Liabilities Amount Assets Amount
(Rs.) (Rs.)

Creditors 88.000 Stock 60,000
Capital : Machinery 1,00,000
(a) 1,00,000 Debtors 78.000
(b) 10,000 Cash 32,000
(c) 72.000 1.82.000

2,70,000 2,70,000

A agreed to take over machinery at Rs. 80,000. Debtors realised Rs. 63,000 and
stock realised Rs. 46,000. The creditors were satisfied by payment of Rs.
84,000. Dissolution expenses amounted to Rs. 3,000
Prepare Realisation Account.
TE-15. oo e 3 o R X s g 000 o & Ba R B sy 10 @, A
o sien & T g’ A g e B TOE A A B A Hhw s
rm:s’rtrﬁ.aﬂ%hqmmwﬁm{a;Mﬂﬁﬂwzo%!ﬂﬁmm

el 242+2=6
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Darshana limited purchased a building from Parul limited for Rs. 90 900 payable
by issue of fully paid equity shares of Rs. 10 each. Pass journal entries in the
books of Darshana limited when (a) Shares are issued at par and (b) Shares

are issued at a premium of 20%.

3rqar OR
Fooe @ gRD A Pr=rifsa aomit & s wfafedr e
(i) 100 ©. e 10,000, 10% %W e R frifva fea m
(i) 100 B. T 10,000, 10% FHUWA 10% Wfem w i B2 ma
(i) 100 T. aA 10,000, 10% FOTA 10% e R foite fea !
Make necessary journal entries #f the books of Arunesh for the following cases
(l')- Issued 10,000, 10% deblentures of Rs. 100 each al par.
(i)  Issued 10,000, 10% debentures of Rs. 100 each at 10% premium
(i)  Issued 10,000, 10% debentures of Rs. 100 each at 10% discount.
. |
maiﬂiaiwea‘ﬂﬂmmmglmmwamﬁtﬁﬁd }oedd ¥ W
FiaRe s 2

Instructions :

Question Nos 16 and 17 are numerical questions Each questicn carties 8 murks

Each question has an internal cholce

—
P.T.O.
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., ;’ o e
m'_ _\*':'1 hv“m“?m:}? **mﬁﬂmﬂﬂ” frﬂ 3 .m 2§
i fora B ogn B R o B R GET OF

ftrm=

31-12-2020
e, r
‘ (T ) i »
S —r—-—-\liu —_— * N JrL e

et | 1,20,000 =T m :' 2,00,000
e Sl 80,000

i

|
w7 60,000 | &3 20,000
A 60 000
™™ 60,000 \ 1,680,000 ‘ j

La,oo,ouo ! | 3,00,000

TR QU 34 g’ﬁm = a g 20% FH TG & AW B O qa= e
T EENR w1 000 &L M gy 20 1A § WIEIM G F v ggq
W gﬂmﬁ‘imnm_%maam%mﬁqﬂg LFR AR

¥ O Y WR ¥ LE ) A gl 4+4=8

Arpit, Prashant and Rahui WOI® Dartpers it @ fIFM SNANNG DOl ang Gssas

oporions of 3 2 Thuy U'SS'NVB(] the hiem o 31 Dai@imilieg 2020 Theai

CalanCe Sheet on that Qate Was Gy ynoe!

s,
e TNN———
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Balance Sheet

31-12-2020
Liabilities Amount Assets Amount
(Rs.) (Rs.)

Creditors 1,20,000 Fixed Assets 2,00,000
Capital : Current Assets 80,000
Ampit 60,000 Bank 20,000
Prashant 60,000
Rahul 60,000 | 1,80,000

3,00,000 3,00,000

Assets realised 20% less than the books value. Creditors were paid off.
Dissolution expenses were paid Rs. 1,000. Unrecorded liability of Rs. 1,000
was also paid.

Prepare Realisation Account and Partners Capital Accounts.

JUq OR
X3y 3:1 % amer & & O & Rugy 3g wewe & wafwd (o 99 2,000
T ) D agd A B 1,10.w0m§glmﬁ$mmmﬁmwm
g

#R 40,000 3., X @ T30 1.00,000 3

C-232301-A P.T.0.
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(16)
Y 3 G R 9 10,000 B, ey @w (R, AW 8,000 B

T B T 1,000 B

Rl B Pf s § 38,000 ¥ R N

T @GR weRt 7 g @ Rl

X and Y are partners in a ratio 3 1. They agreed for dissolving the firm. Assets
(Cash Balance Rs. 2,000) were realized Rs. 1,10,000. Liabilities of the firm and
other details were as under :

Creditors Rs. 40,000, X's capital Rs. 1.00,000, Y's capital (debit balance) Rs.
10,000, Profit and loss account (debit balance) Rs. 8.000. Dissolution expenses
Rs. 1,000. Creditors paid-off in full Rs. 38,000.

Prepare Realization Account ang Partners Capital Account.

g we F L Y 10 %) amr 10,000 39 4 ©. NEww ) Foiftm B M
F wer ﬁrﬁaa GOl

4 3T R (1 3. M i) g o grded ® (1 5. Mw D, 4 v g
T R (1 3. 0w i), g o Fdrg ta difem aRFl R (1 5. M afen
AR T W e g & gy g A TR SIRCIG R T T T ol

i T+1+1+1+141+14+1=8

C-232301-A T T
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Durgesh and Co. Ltd. issued 10.000 shares of Rs. 10 each payable at premium
of Rs. 4 per share. The amount payable are as under :
On application Rs. 4 (including premium of Re. 1)
On allotment Rs. 3 (including premium of Re. 1)
On first call Rs. 4 (including premium of Re. 1)
On second and final call Rs. 3 (including premium of Re. 1)

All the amounts were received duly. Pass necessary journal entries in the books

of the company.

FYar OR

& ffids ¥ 100 ©. @@ 10,000 12% FowH FHYd W = yoR Frffa o6 -
e | 10 T, FEded W 20 T, gy gren W 40 . 1 fgda e w30
o, gfy FoA| g Ad &0 6 Wi il e wa @ 1, I @ gt
¥ e & Bl

B Ltd. issued 10,000, 12% debentures of 100 each at par payable as : Rs. 10
on application. Rs. 20 on alloiment, Rs. 40 on first call and Rs. 30 per
debenture on second call Make necessary journal entries in the books of the

company assuming that all Money were duly received.

&232301 "‘A PuT- 0.
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(Buz-a)
Section-B
(AT Ravol o7 o)

(Analysis of Financjal Statement)

e -
yee FiE 18 Ud 19 3Hfd 7Y I yey ¥ g8 9 W 1 36 FeiRd 2

instructions :

Question Nos. 18 and 19 are very short answer type questions. Each question

carries 1 mark.

& e gfe -
Choose the correct option :

w18, ou @ e Res 5w sftfam % grr s s @
(31) 1932
(§) 1956
(|) 2010
(@) TH F D5 T8
By which act financial statement of g company 8 made :
(a) 1932
(b) 1956
(c) 2010

(d) None of these

C-232301-A
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W19, e @ yaE ba TR o B 4 1
Payment of dividend is which type of activity ?
fdw -
e HHIG 20 ¥ 22 a@ g ING TE § e o R 4 3w FeflRa & sds g
R JaRe Ree 21

Instructions :
Question Nos. 20 to 22 are short answer type questions. Each question carries 4

marks. Each question has an internal choice.

WE-20. FreiRag Barol ¥ 31 9w, 2020 o4 31 A1, 2021 @ ¥ J§ &g oIS 3

oo e ¢ 4
faaor 2020 2021

ey 80,000 3. 1,00,000 .

i 5y ™ wa B o & &1 60% i &1 60%
e WHeT AW W 10% TBd dH | 15%
AR B N 50% 60%

Prepare comparative income statement from the following particulars for the

year ended 31%' March, 2020 and 318t March, 2021 :

Particulars 2020 2021
] |D .
Sales 80,000 Rs. 1,00,000 Rs
60% of sales 60% of sales

Cost of goods sold

0 i .
Indirect expenses 10% of gross profit |  15% of gross profit

0 0
income tax rate 50% 60%

c—232301-ﬂ. PITIOI
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(20)
ot OR

Y 5 MR R g R RIS 31 9, 2020 T 31 A, 2021 Y

TG W 5w e

faaor 2020 2021
(%.) (%.)

femsa 2,40,000 3,00,000

O W A| H A 1,40,000 1,50,000

I T 40,000 50,000

W 8q EEH 12,000 20,000

From the following information prepare a comparative statement for the year

ended 31st March, 2020 and 31st March, 2021 -

Particulars 2020 2021

(Rs.) (Rs.)
Sales 2,40,000 3,00,000
Cost of goods sold 1,40,000 1,50,000
Indirect expenses 40,000 50,000
Provision for tax 12,000 20,000

aﬂﬂwﬁamaswmquﬁm

Write any four objectives of cash flow statements.

U= OR
mmﬁmwnﬁaml

Describe the importance of fund flow statement.

1+1+1+1=4

C-232301-A
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Prfrfaa el T FTTT T By e 2,500 30, B7aR 2,000 ., g7

We-22.
R 500 ., S @ GO 200 B d@5 1500 T, IR 3,000 3., ¥ R
2000 ©., &5 aftfded 200 T 4
From the following instructions Calculate current ratio. Stock Rs. 2,500, Debtors
-Rs. 2,000, Bills receivable Rs. 500, Advance tax paid Rs. 200, Cash Rs. 1,500,
Creditors Rs. 3,000, Bills payable Rs. 2,000, Bank overdraft Rs. 200.
3rar OR
Praifsd gEmol A aRe U A B
) O FUd 2.5 : 1
(i) b 1,20,000 %.
(i) @ cfra 1,60,000 T
Find out liquid ratio from the following particulars
()  Current ratio 2.5 : 1
(i) Inventories Rs. 1,20.000
(i)  Current liabilities RS- 1,60.000
Frdwr -

T @i 03 A e we o ¥ W6 g fretRd 3

Instructions -

Question No. 23 is long answer YPE Question 1t carries 6 marks

- il P.T.O.

C-232301-A
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e~ : +1+1+1+141=6
h ' ement. (Any Six)
Write the limitations of analysis of financial stat (Any

3yar OR
fidta Recolt ¥ Rdwo &1 wew Rfwwl (@5 B
Write the importance of analysis of financial statement. (Any SiX)
(Qoz-7)
Section-C
(TR i)

(Computer Accounting)

ye BAE 18 Ud 19 Ay oy 7RG v & TS v W 1 sim PefRa

Instructions :

Question Nos. 18 and 19 are very short answer type questions. Each question

carries 1 mark.
W& few gfvwe
Choose the correct option :
Weq-18, s:ﬁ#aﬂr{-mmtgamg: 1
(3) A9
(@) pafuea
(|) Hte

(@) ®KU T g

C-232301-A T —— T
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Which of the following is an output device :

(@) Mouse
(b) Key board
(c) Monitor
(d) CPU

ge-19. e @ wid W e @m I & ?

What is called permanent memory of Computer ?

e -
o BAE 20 ¥ 22 B MY I yee A1 TG W W 4 3% eia {1 gad s
R ke fawea 2
Instructions :
Question Nos. 20 to 22 are short answer type questions. Each question carries 4
marks. Each question has an internal choice.
=20, EERR vd dwam # FR W dfel (@ ar) 141+1+1=4
Differentiate between Hardware and Software. (Any four)
JYal OR
R 3R egdex # IR e @ @
Write the difference between Computer and Calculator. (Any four)
ME-21, @R b ol @ AW @ I o fofael (P TR) 141414124

Write the name and description of computer equipment. (Any four)

C-23 .
2301-A P.T.O.
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3 OR
PG oA Jomed B Ay WEEe) (B )
Discuss the disadvantages of computerized accounting system. (Any four)

We-22. ﬁaﬁ?ﬂ; RT3y & TR e e 1+1+1+1=4

Write the charadteristics of electronic spread sheet. (Any four)

JYar OR
BT ¥ WAy ot ¥ AR Ry fufawl

Write the four objectives of database management system.

g9 PHid 23 AU Jo we 2 ¥ me w6 wd (Huifa 2
Instructions :
Question No. 23 is long answer type question. It carries 6 marks.
wH-23. U & Ul B wHenrl (@ o) 1414141414126
Explain the components of pay-roll. (Any six)
&t OR
y-e # delid @ [l (P8 5

Explain deductions in pay-rolis. (Any six)

C-232301-A 28,010



